	Jun 21, 19	
CONT#	32394798 Mod# Ver# 1 (Last =)	DØS CONT# 0
REP	CHR ISTAL RADIO	C/P/E: / / 26
TO	WHBC-AM (Canton, OH)	
FM	JOEY GANGI	
OFF	ATLANTA	SALESPERSON FAX#
AGY	NEWDAY MEDIA SERVICES	
ADDR	1163 WARRENHALL LANE, NE	PH#
	ATLANTA, GA 30319	
BYR	STEVEN BOOR	
ADV	ALLIANCE FOR PATIENT ACCESS	
PDT	AFP A	
FLT	Dec 03, 18 - Dec 23, 18	

* REP ORDER COMMENT *

^{** 12/5/2018 4:18:00} PM: PLEASE HAVE THE INVOICES SENT ELECTRONICALLY. BELOW ARE OUR EDI NUMBERS: RADIO INVOICES 991384 MARKETRON 172256 EMEDIA 12466

MC	LN	DAYS	TIME	LEN	EFFECTIVE DATES	# OF WKS	NPW	RATE	TOT SPTS
		FLIGHT 1						Į.	
	1.1	MTWTF	6A - 10A	60	12/3/2018 - 12/14/2018	2W	2	\$100.00	4
	1.2	MTWTF	10A - 3P	60	12/3/2018 - 12/14/2018	2W	2	\$100.00	4
	1.3	MTWTF	3P - 7P	60	12/3/2018 - 12/14/2018	2W	2	\$100.00	4
	1.4	şS.	10A - 3P	60	12/8/2018 - 12/15/2018	2W	2	\$60.00	4
	1			** WI	EEKLY FLIGHT TOTALS **		8	\$1,440.00	
1		FLIGHT 2						2	
	2.1	MTWTF	6A - 10A	60	12/17/2018 - 12/21/2018	1W	2	\$100.00	2
	2.2	MTWTF	10A - 3P	60	12/17/2018 - 12/21/2018	1W	2	\$100.00	2
	2.3	MTWTF	3P - 7P	60	12/17/2018 - 12/21/2018	1W	2	\$100.00	2
				** W	EEKLY FLIGHT TOTALS **	1	6	\$600.00	
-i				1					- 1

	Dec 18					
SPOTS	22				i	
CASH	2040.00		N.	ų.		
TRADE	0.00					
NSL	0.00					
TOTAL	2040,00	.,	 			

^{** 12/5/2018 4:18:00} PM: ***NEW ORDER***NEW ORDER***PLEASE CONFIRM ON-LINE OR CONTACT DESIRAE.TUCKER@KATZMEDIA.COM WITHIN 24 HOURS. ANY AND ALL CHANGES TO THIS ORDER NEED PRIOR APPROVAL FROM THE AGENCY. BY CONFIRMING THIS ORDER YOU AGREE THAT ALL SPOTS WILL CLEAR AS ORDERED. THANK YOU!

Jun 21, 19

CONT# 32394798 Mod# Ver# 1 (Last =)
REP CHRISTAL RADIO

DDS CONT# 0 C/P/E: / / 26

RADIO C/P/E: /

	TOTAL
SPOTS	22
CASH	2,040.00
TRADE	0.00
NSL	0.00
TOTAL	2,040.00

** Competitive Comments **

1 HOUSE AFPA

SVC: SP18 MSA CustRadio

Demo Adults 35±

Nondiscrimination -Paragraphs 49 and 50 of the United States Federal Communications Commission's Report and Order No. 07-217 provides that broadcast stations' advertising contracts will not discriminate on the basis of race or ethnicity, and must contain nondiscrimination clauses. Consistent with this order, Katz Communications, Inc. (including any subsidiary or division of Katz) does not discriminate in any broadcast advertising contract on the basis of race or ethnicity and evaluates, negotiates and completes its broadcast advertising contracts without regard to race or ethnicity.

Date: 6/21/19

Sales Order

NEWDAY MEDIA SERVICES WHBC-AM Station: Agency: Contract Name: alliance for patient access 1163 WARRENHALL LANE, NE Address: 40087 **ATLANTA** 30319 City: State: GAZip: Contract#: 12/21/18 Steven Boor Start Date: 12/08/18 End Date: Buyer: Type: Cash Tax Schedule: Revenue Type: POLITICAL NATIONAL (None) Advertiser: ALLIANCE FOR PATIENT ACCESS Agency Commission %: 15 Billing Cycle: Standard Address: Salesperson: 4408NATI Comm %: City: State: Zip: Product Name: Alliance for patient acce Makegood Policy: SALES PERSON APPROVAL REQUIRED Estimate #: 26

Competitive Code: POLITICAL - ISSUES

A.L.	DATES Alt							DISTRIBUTION								RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W		SPOTS	\$\$	
1	12/08/18	12/15/18		10:00 AM	3:00 PM	60						2		2	D	60.00	4	240.00	2
2	12/10/18	12/14/18		6:00 AM	10:00 AM	60	1	1	1	1	1			4	W	100.00	4	400.00	2
3	12/10/18	12/14/18		10:00 AM	3:00 PM	60	1	1	1	1	1			4	W	100.00	4	400.00	2
4	12/10/18	12/14/18		3:00 PM	7:00 PM	60	1	1	1	1	1			4	W	100.00	4	400.00	2
5	12/17/18	12/21/18		6:00 AM	10:00 AM	60	1	1	1	1	1			2	W	100.00	2	200.00	2
6	12/17/18	12/21/18		10:00 AM	3:00 PM	60	1	1	1	1	1			2	W	100.00	2	200.00	2
7	12/17/18	12/21/18		3:00 PM	7:00 PM	60	1	1	1	1	1			2	W	100.00	2	200.00	2

Billing Projections: By Month

Dec 18

CA 2,040.00

ST 2,040.00

Print Spot Prices

22 **TOTAL SPOTS** 2,040.00 **GROSS TOTAL \$** 22 ADJUSTED SPOTS ADJUSTED TOTAL \$ 2,040.00

APPROVE	DECLINE	
	\bigcirc	4408dvau, 12/06/18 @3:40PM
\bigcirc	\bigcirc	Traffic Manager
\bigcirc	\bigcirc	Sales Manager
\bigcirc	\bigcirc	4408lgaw, 12/06/18 @2:45PM

AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Station and	Location:			12/2	1/18
1	ic Consulting A		the following is	sue:	
Healt	chcare				- W
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

This broadcast time will be used by: American Conservative Union

THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT "COMMUNICATES A POLITICAL MATTER OF NATIONAL IMPORTANCE." FOR ALL OTHER ISSUE ADS, PLEASE GO TO PAGE 3.

Programming that "communicates a political matter of national importance" includes (1) references to legally qualified candidates (presidential, vice presidential or congressional); (2) any election to Federal office (e.g., any references to "our next senator", "our person in Washington" or "the President"); and (3) a national legislative issue of public importance (e.g., Affordable Care Act, revising the IRS tax code, federal gun control or any federal legislation).

Does the programming (in whole or in part) communicate "a message relating to any political matter of national importance?" 日 No

For programming that "communicates a message relating to any political matter of national importance," list the name of the legally qualified candidate(s) the programming refers to, the offices being sought, the date(s) of the election(s) and/or the issue to which the communication refers (if applicable):

Healthcare	
I represent that the payment for the	above described broadcast time has been furnished

by (name and address):
American Conservative Union

201 N Union St #370 Alexandria, VA 22314

and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").

List the chief executive officers or members of the executive committee or the board of directors below (or attach separately):

Matt Schlapp Chairman Carlie Gerow Vice Chairman Carolyn Meadows 2nd Vice Chairman Bob Beauprez Treasure

For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 5)

Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed

THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT **DOES NOT "COMMUNICATE A POLITICAL MATTER OF NATIONAL IMPORTANCE**"

I represent that the payment for the above described broadcast time has been furnished by (name and address):
and you are authorized to announce the time as paid for by such person or entity (hereinafter referred to as the "sponsor").
List the chief executive officers or members of the executive committee or the board of directors below (or attach separately):